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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)

ta.replace (TCT, TDT);

ta = ta.concat (th)

System.out.println (ta) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the code fragment:

public static void main({String[] args)} {
int ans;

try {
int num = 10;
int div = 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0; S/ line nl

} catch (Exception e) {
System.out.println{"Invalid calculation™};

}

System.out.println("Answer =

b

+ ans):; // line n2
}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {
public static wvoid main{String[] args) {

int ans:

try {
int num = 10;
int diw 0
ans num / diwv;
catch (ArithmeticException ae) {
ans 0z

} catch (Exception e) {
Quatem. ot . nrintInt"Tnvalid maleuliation”);

[avariab;e ans might not have been initialized
[ ] System.out.println("Answer " + ans); f/line n2

}

gt

NEW QUESTION 3
Given the following classes:

The Leader of IT Certification visit - https://www.certleader.com



CertLeaderm 100% Valid and Newest Version 1z0-808 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/1z0-808-dumps.html (156 Q&AS)

public class Emplovee {
public int salary;

public class Manager extends Emplovee ({
public int budget:;

public class Director extends Manager |
public int stockOptions;
}

And given the following main method:

public static void main(8tringl[] args) |
Employee employvee = new Employee():

Manager manager = new Manager():;
Director director = new Director():
//line nl

}

Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget =1 000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 4
You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.

> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
A

public absztract class Toy/{

public abstract int calculatePrice (Toy t);
public volid printToy (Tey t) { /* code goes here */ }

B
public abstract class Toy |
public int calculatePrice (Toy t) :
public wveid printToy (Toy t)
!
C
public abstract class Toy |
public int calculatePrice (Toy t):
public final wveid printToy (Tey t)f{ /* code goesz here */ |}
i
D
public abstract class Tov |
public abstract int calculatePrice(Toy t) { /* code goes here */
public abstract weld printTey(Tey t) | /* code goss here */ |}
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 5
Given the code fragment:
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int x = 100;
int a = zHt++;
int b = ++4+3:;
int < = xHt++;
int d = {a < kY 72 (a < <) 7 a: (b <c 17 b o ®1;

System.out.printlni(d) ;

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 6
Given this code for a Planet object:
public class Planet ({
public String name;
public int moons;

public Planet (String name, int moons) {
this.name = name;
this.moons = moons:

And this method:

public static void main(String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus”, 0),
new Planet ("Earth”, 1),
new Planet ("Mars"”, 2)
b

System.out.println(planets) ;

System.out.println(planets(2].name);

System.out.println(planets(2].moons);
}

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets=s. Planet@dadiadadc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wenus
]

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 7
Given the code fragment:

public static void mainiStringl[] args) |
Shert =1 = 200;
Integer =2 = 400;

Long =3 = (long) sl + =2; A i B =Sk o
String s4 = (String) (=3 * =2); P R W 1)
System.out.println{"Sum iz " + =4);

}

What is the result?

A. Sum is 600

B. Compilation fails at line n1.

C. Compilation fails at line n2.

D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 8
Given:
public class App |
int count:

public static void displayMsg () |

count++; / line nl
System.out.println ("Welcome “+"Visit Count: “+count):; // line nZ
public static void main (String [] args) {

App.displayMsg () : // line n3

App.displayMsg () : J{ line nd

What is the result?
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A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.

C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2

Answer: B

NEW QUESTION 9
Given the code fragment:

public static veoid main(String[] args) {

e

points.add(l)
points.add(2)
points.add(3)
points.add(d) :

roints.add(null):

-

e

i

ints.remove(1l) :

s
]

O

ints.remove(null) ;

I
oints = new ArrayList<>():

System.out.println (points);

What is the result?

A. A NullPointerException is thrown at runtim
B.[1, 2, 4]
C.[1, 2,4, null]
D.[1, 3, 4, null]
E.[1, 3, 4]

F. Compilation fails.
Answer: B

NEW QUESTION 10
Given these two classes:

public class Customer |

ElectricAccount acct =

new Electrichccount () ;

public void uzeElectricity (double kWh) !

acct . addEWh (kWh) ;

public class ElectrichAccount |

private deouble kWh;
private double rate =
private double bill;

715 ne AT
}

0.07;

Any amount of electricity used by a customer (represented by an instance of the Customer class) must contribute to the customer's bill (represented by the
member variable bill) through the useElectricity method.

An instance of the Customer class should never be able to tamper with or decrease the value of the member variable bill.

How should you write methods in the ElectricAccount class at line n1 so that the member variable bill is always equal to the value of the member variable kwh

multiplied by the member variable rate?

The Leader of IT Certification

visit - https://www.certleader.com



CertLeader.m 100% Valid and Newest Version 1z0-808 Questions & Answers shared by Certleader
e — https://www.certleader.com/1z0-808-dumps.html (156 Q&AS)

Leader of IT Certifications

A
public veoid addEWh (double kWh) |
thi=z.kWh += kih;
thig.kbill = this.kWh*this. rate;
i
B
public void addEWh (double kWh) |
if (kWh > 03¢
thi=. kWh += kih;
thiz.kill = thiz.kWh * thisz.rate;
1
i
C
private vold addEWh {double kiWh) |
if {(kWh > 0) ¢
thiz.kWh += kWh;
thiz.ki1ll = this.kWh*this. rate;
1
i
1]
public volid addEWhi(doubkle kWh) |
if (kwh > 03 ¢
thisz. kih += kith;
setEBi1ll ithis. kWh) ;
i
H
public vold setBill (doubkle kWh) |
Fill = kWh*rate;
H
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 10
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

NEW QUESTION 14
This grid shows the state of a 2D array:

o o

X

The grid is created with this code:

char[][] grid = new char[3][3];
grid[1][1] = “X’;

grid[0] [0] = *0*;

grid[2][0] = “X’;

grid[0][1] = *0';

grid[2][2] = ‘X’;

grid[1][2] = *0;

{f/line ni

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = *X’;
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B. grid[3][2] = ‘X’;
C. grid[3][1] = ‘X
D. grid[2][3] = *X’;

Answer: D

NEW QUESTION 15

Given the code fragment:

public static wvoid main(String[] args)
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.out.println(date) ;

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.

Answer: B

Explanation:

Manjma @ ' java version "1.8.0.31"

Java(TM) SE Runtime Environment (build 1.8.0.31-b13)

Java HotSpot(TV) 64-Bit Server W (build 25.31-b87, mixed mode)
» jovac -classpath . :/run_dir/junit-4.12. jar:/run_dir/hancrest-
ore-1,3, jar:/run_dir/json-simple-1,1.1,jar -d . Main,jova

import java.time.localDate;
import java.time.Month;

4 public class Main { s jova -classpath . :/run_dir/junit-4.12, jor:/run_dir/hancrest-c
5  public static void main(String(] args) { re-1,3, jar:/run_dir/json-simple-1.1.1,jar Main

6 LocalDate date = LocalDate.of (2012, 1, 30); 2012-01-30

1 date.plusDays(10); I

System,out.println(date);

9 1}

14 ],

NEW QUESTION 20
Given:

interface Readable |
public wvoid readBook ()
public wvoid setBookMark () ;

}

abztract clasz Book implements Readable | f4 line nl
public veoid readBook () { 1}
Ff ddine 0P

}

clas=s EBook extends Book | if ine n3
public veoid readBook () { 1}
f4 line nd

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?

&) Replace the code fragment at line nl with:
class Book implements Readable |

© B) At line n2 insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with:
abstract class EBook extends Book |

~ D) At line n4 insert:
public wvoid setBookMarki() { 1}

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: D

NEW QUESTION 22
Given:

class HoO
ztatic int 1i:
st

public static vold main(Stringl]

¥ o2l = new ¥{);
¥ 2 = new ¥X{);

®lier= B

xl.] = 4;

%2.1.°= 53

®2.] = 6;

System.out.println
-6 A I (L
ST
Hewdwak "
o RMn B

}

What is the result?

A.3456
B.3436
C.5456
D.3646

Answer: C

NEW QUESTION 26
Given the code fragment:

args)

LocalDateTime dt = LocalDateTime.of (2014,

dt.plusDays (30} ;
dt.plusMonths (1) ;

System.out.println{dt.format (DateTimeFormatter.IS0 DATE TIME));

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 28
Given the code fragment:

abstract class Toy {
int price;
Jf line nl

h

Which three code fragments are valid at line n1?
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A
public static void insertTov() {
/* code goes here */
}
B
final Toy getToy() {
return new Toy():;
C
public void printTov();
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount():;
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 32
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Answer: B

NEW QUESTION 34
Which statement is true about Java byte code?

A. It can run on any platform.

B. It can run on any platform only if it was compiled for that platform.

C. It can run on any platform that has the Java Runtime Environment.

D. It can run on any platform that has a Java compiler.

E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Answer: D

Explanation:

Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes on any platform that has a Java compiler. The
bytecodes can then be run on any implementation of the Java VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

NEW QUESTION 38
Given the code fragment:

public static void main(String[] args) |
LocalDate datse = LocallDate.of (2012, 01, 22);
date.plusDays (10) ;
System.ocut.printlnidate) ;

}

What is the result?

A. 2012-02-10
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B. 2012-02-11
C. Compilation fails
D. A DateTimeException is thrown at runtime.

Answer: D

NEW QUESTION 39
Given:
class H |
b3 4 e
staticiint. 5
public static void main(String[] args)
X =21 = new X();
X %2 = new X(};

xl.i = 3;

x1l.] = 4;

x2.1i = 5;

¥x2.7 = 6;

System.out.println(
®x1l.1 + " " +
wlag 44 = o
x2.1 + " " +
%2 550

}
What is the result?

A.3456
B.3436
C.5456
D.3656

Answer: D

Explanation:
365686

Completed with exit code: 0

NEW QUESTION 43
Given:

interface I |
public void displavyI():
}
abstract class C2 implements I {
public wvoid displayC2() {
System.out.print ("C2")

]

}

class Cl extends CZ {
public void displayI() {
System.out.print ("C1l")

-

}

And the code fragment:
C2 objl = new C1():
I obj2 = new Cl();

CZ 58 =

(C2) obj2;
I t = obj

=
L

l_l.

t.displayI():
s.displayC2 () ;

What is the result?

A. Cl1C2
B.ClC1
C. Compilation fails.
D. C2C2
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Answer: A
Explanation:
5 +
= lund "
L] SIG interface I
public void displayI();
}

abstract class C2 implements I {
public void displayC2({) {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI{) {
System.out.print("C1");

}
}

public class App {
public static void main(String[] args) {
C2 objl = new Cl{);
I obj2 = new Cl();

C2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();

Console 1 X Console 2 * Console 3 X X

C1C2
Completed with exit code: 0

NEW QUESTION 47
Given this class:
public class CheckingAccount {

public int amount;
//1line nl
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And given this main method, located in another class:

public static void main(String[] args} {
CheckinglAccount acct = new CheckingRccount () ;
//line n2

b

Which three pieces of code, when inserted independently, set the value of amount to 100?

A
AL 1ine nl insert:
public CheckinglAccount () {
amount = 100;
¥
B
At 1ine nZ insert:
this.amount = 100;
L
AL 1ine nZ insert:
amount = 100;
1]
AL 1ine nl insert:
public Checkingzccount () {
this.amount = 100;
¥
E
At 1ine nZ insert:
acct.amount = 100;
F
Af 1ine nl insert:
public CheckingAccount () {
acct.amount = 100;
j;
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 51
Given:
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Base.java:
class Base |

public void test () {
System.out.println("Base ");

DerivedA.java:
class Derivedl extends Base |
public void test(){
System.out.println("Deriveda ");
}
DerivedB.java:
class DerivedB extends Derivedh |

public void test(){
System.out.println("DerivedB ") ;

}

public static void main((String[] args) {
Base bl = new DeriwvedB () :
Base b2 = new Deriveda():;
Base b3 = new DeriwvedB () :;

Base b4 = b3;
bl = (Base)}) b2;
bl stest i)

b4 .test ()

H

What is the result?

A. BaseDerivedA

B. BaseDerivedB

C. DerivedBDerivedB

D. DerivedBDerivedA

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 56
Given the code snippet from a compiled Java source file:

public cla=zs MyFils
{

public static voild main (String[] args)
{
String argl = args[l];
String argZ = argsa[Z2];
String arg3 = args[3];
System.out.println(™argy is “ + argi);

}

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2
A. java MyFile 132 2

B. java MyFile 2 2 2

C.javaMyFile12234

D.java MyFile0123

Answer: A

NEW QUESTION 57
Given:
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class Test {
int al:;

public static void doProduct (int a) {

a = a * a;

public static void doString(String s) {
s.concat(" " + s);

}
public static void main(String([] args) {
Test item = new Test ()
item.al = 11;
String sb = "Hello";
Integer 1 = 10;

doProduct (1) ;

doString(sb) ;

doProduct (1tem.al) ;

System.out.println(i + " " + sb + " " + item.al);

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 59
Given:

class Test |
public static void main (String [] args) {
int numbers [ ]:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4];
numbers [2] = 30;
numbers [3] = 40;

for (int x : numbers) {
System.out.print (™ “ + x) :

What is the result?

A. 10203040

B.00 3040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C
NEW QUESTION 60
What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?

A. Encapsulation
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B. Inheritance

C. Abstraction

D. Instantiation
E. Polymorphism

Answer: A

Explanation:
Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

NEW QUESTION 61
Given the code fragment:

int wd = 0;
String days[] = ("sun”, “"mon®, “wed"”, “sat");:
for (8tring s:days) {
switch (s) {
case “=sat":
case “=sun”:
wd -= 1:
break;
cage “moen’
wid++;
case “wed":
wd += 2;

}

System.out . println(wd) ;

What is the result?

|'_\-l>00

. Compilation fails.

Answer: A

NEW QUESTION 62
Given:
public class Test |
public static vold main(Stringl] args) |
Test t3 = new Tesat();
.

) F

System.out.print (isAvailable + ™
iskvailakle= ts.doStuff();
System.out.println(ishvailable) ;

'

public static boolsan doStuff ()
return lisAvailakls;

'

static boolean i1sfvailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 67

Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function
B. Provides a set of standard exceptions that covers all possible errors

C. Improves the program structure because the programmer can choose where to handle exceptions

D. Improves the program structure because exceptions must be handled in the method in which they occurred

E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 70
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Given:

class Caller
private void init ()
System.out.println(™Initialized”);

private void start ()

init () ;
System.out.println (“Started”) ;
}
}
public class TestCall {
public static void main(Stringl] args) {
Caller o — new Caller{):
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 71
Given the code fragment:

3. public static wvoid main(String[] args) /{

4, int x = 6;

5. while (isAwailable(x)} {

6. System.out.print (x) ;

7.

3. }

9. 1

10.

11. public static boolean isAvailable (int x) {
12 return ——-x > 0 ? true :| false;

13. 1

Which modification enables the code to print 543217

A. Replace line 6 with System.out.print (--X);

B. At line 7, insert x --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 76
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.

B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 77
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC
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NEW QUESTION 82
Given the code fragment:

LocalDate datel = LocalbDate. nowi() s
LocalDate dated = LocalDate.of (b, 20, 2014 ) ;

LocalDate dated = LocalDate.parse ("2014-06-20", DateTimeFormatter.IS0 DATE) ;
System.out.println("datel = " + datel);
Syztem.ocut.println("dated = " + datel):
System.out.println("dated = " + dated):

Assume that the system date is June 20, 2014. What is the result?

A
datel = Z014-06-20
dated = Z014-06-20
date3 = Z014-06-20
B

datel = 06/20/2014
date? = Z2014-086-20
date3 = Jun 20, 2014

C  Compilation fails.

L)

An exception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 83
Given the code fragment:

String[] strs = {"A"™, "B"}:

int idx = 0;

for (String s : strs)
strs[idx] .concat (" element " + idx);
idxt+;

}

for (idx = 0; idx < strs.length; idx++)
System.out.println(strs[idx]);

}

What is the result?

A. AB

B. A element OB element 1

C. A NullPointerException is thrown at runtime.
D.AOB1

Answer: C

NEW QUESTION 86
Given the code fragment:

int numsl[] = {1, 2, 3};

int numsZ[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : nums2){
Svstem.out.print {x + ":");

i

What is the result?

A. 1:2:3:4:5:

B. 1:2:3:

C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.
Answer: A

NEW QUESTION 90
Given the code fragment:
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if {avar++ < 100

System.out.println(avar 4+ " Hello Universel™);
}oelze

System.out.println(avar + " Hello World!l™);
1

What is the result if the integer aVar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 91
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